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Interactions & Ecosystems - Quiz 2: Topics 4 and 5.
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Take your time. Read each question carefully.

Matching (10 marks total)

Put the correct LETTER beside the number in column A that matches the description.

	
	A
	B

	
	
	

	___
	1. Food chain
	A. A network of interconnected food chains

	
	
	

	___
	2. Food web
	B. A model that shows how energy stored in food passes from organism to organism

	
	
	

	___
	3. Biotic
	C. Living organisms in an environment

	
	
	

	___
	4. Abiotic
	D. When substances are introduced to the environment in such large concentrations or fast rates that it causes an undesirable change in the physical, chemical, or biological characteristics of the natural environment

	
	
	

	___
	5. Niche
	E. Organisms that use energy from the sun to make food energy or nutrients for themselves to survive

	
	
	

	___
	6. Scavenger
	F. Organisms that eat the food made by producers, including herbivores, carnivores, and omnivores.

	
	
	

	___
	7. Decomposer
	G. Organisms that break down the cells of dead or waste material and absorb their nutrients

	
	
	

	___
	8. Pollution
	H. Non-living organisms in an environment 

	
	
	

	___
	9. Producers
	I. Organisms that feed on dead or decaying plant or animal matter 

	
	
	

	___
	10. Consumers
	J. The role an organism plays in an ecosystem 
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Multiple Choice (10 marks total)

CIRCLE the letter of the correct answer.

	11. 
	Which of the following statements is true?

	A. 
	Herbivores are animals that eat other animals

	B. 
	Omnivores are animals that eat only plant material

	C. 
	Carnivores are animals that eat other animals and plant material

	D. 
	None of the above.



	12. 
	Predators are consumers that kill and eat other animals called:

	A. 
	Scavengers

	B. 
	Decomposers

	C. 
	Prey

	D. 
	Producers



	13. 
	Energy flow is:

	A. 
	The movement of pollutants that are passed from one organism to the next

	B. 
	The movement of energy, starting from the sun, and passing from one organism to the next

	C. 
	The breakdown of dead material by decomposers, which transfers nutrients to their cells and back into the ecosystem

	D. 
	The circulation of carbon around an ecosystem



	14.
	Which statement is true about DDT?  

	A. 
	DDT is not yet banned in Canada, but it is banned in most parts of the world

	B. 
	DDT is no longer used in Canada because it was not effective in controlling the insect populations.

	C. 
	DDT was sprayed onto crops and trees to kill insect pests from 1940-1960 in Canada

	D. 
	DDT is now banned everywhere in the world



	15. 
	Which of the following are abiotic parts of an ecosystem?

	A. 
	Micro-organisms

	B. 
	Minerals

	C. 
	Worms

	D. 
	A and C



	16. 
	Carbon circulates around and around an ecosystem.  Which of the following removes carbon from the atmosphere?

	A. 
	Forest fires

	B. 
	Burning of fossil fuels

	C. 
	Animal respiration (i.e. breathing)

	D. 
	Photosynthesis

	E.
	A, B and C

	17. 
	The pH scale measures the acidity of liquids.  Which of the following pH values is the most acidic?

	A. 
	12

	B. 
	7

	C. 
	2

	D. 
	5



	18. 
	Bioaccumulation occurs when:

	A. 
	Microorganisms decompose dead, organic material

	B. 
	Pollutants enter the food web and accumulate in the higher level consumers

	C. 
	Microorganisms enter the food chain and toxins accumulate in lower level producers 

	D. 
	Organic matter piles up in forests, leading to fires and natural regrowth

	
	

	19. 
	Bracket fungus digests the dead cells of tree bark.  What kind of organism is the Bracket fungus?

	A. 
	Consumers

	B. 
	Scavenger

	C. 
	Decomposer

	D.
	A and C

	E.
	B and C

	 
	

	20. 
	When fossil fuels are burned, what is released into the atmosphere that mixes with the precipitation to form acid rain?

	A. 
	DDT and PCBs

	B. 
	Mercury and lead

	C. 
	Sulphur and mercury

	D. 
	Sulphur and nitrogen
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Short answer: (10 marks total)
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21. Using the pyramid of numbers and the average masses of the organisms given below, find the biomass of the ecosystem.  Show your work (4 marks)

Osprey = 2 kg

Pike = 5 kg

Perch = 1 kg

Shrimp = 0.1 kg



BIOMASS = ________________

22. Write the correct term in the empty boxes on the water cycle diagram below. (6 marks)
[image: image1.png]
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Bonus marks:

Why have koala bears become endangered? (1 marks)

According to some scientists, bacteria are removing iron from the hull of the Titanic at a rate of 1/10 of a tonne/day.  By what year did these scientists believe the Titanic would disappear completely? (1 marks)
